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E £z K £ ouT IN GR HDCP NET =
EZ B EH 40 46 86 13.0 73.0
B k2K BF 50 58 108 31.0 71.0

3 BN RA 51 57 108 28.0 80.0
4 T#H kg 46 40 86 5.0 81.0
5 |thiE 1BF 47 46 93 12.0 81.0
6 RR #®a .y 47 94 13.0 81.0
1 |#B &E 44 53 97 16.0 81.0
8 iR fE 48 44 92 10.0 82.0
9 |ILER <8 49 52 101 19.0 82.0
10 R # 47 46 93 10.0 83.0
11 | kX fgHs 43 46 89 5.0 84.0
12 |#H H2Z 49 48 97 13.0 84.0
13 |FFH =F 47 51 98 14.0 84.0
14 |¥HE BZHR 45 53 98 12.0 86.0
15 |&€F =# 49 51 100 10.0 90.0
16 | K#F = 49 b5 104 14.0 90.0
17 B Eia 48 54 102 11.0 91.0
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E £z K £ ouT IN GR HDCP NET =
B Y X 44 48 92 24.0 68.0
2 MG #Bx 46 43 89 19.0 70.0
3 B+ FE 49 46 95 25.0 70.0
4 |HhHE BX 41 39 80 9.0 71.0
5 |m BN 44 43 87 16.0 71.0
6 |HFKR #x 44 48 92 21.0 71.0
1 |#FE B 41 43 84 10.0 74.0
8 Rl EA 42 48 90 15.0 75.0
9 | K& =M 40 41 81 5.0 76.0
10 |[fERK =¥ 40 43 83 7.0 76.0
11 |XKA Tt 41 44 85 9.0 76.0
12 |BEX XF 46 46 92 16.0 76.0
13 | KA AK 42 44 86 9.0 17.0
14 |JsF 85 47 40 87 9.0 78.0
15 Bl HRE 51 56 107 29.0 78.0
16 |EH =4 50 40 90 11.0 79.0
17 |[LE =]E 44 47 91 11.0 80.0
18 |Gregory Rouault 52 50 102 22.0 80.0
19 |BRR A 56 51 107 27.0 80.0
20 Ml EBEA 46 46 92 11.0 81.0
21 |BTF HE 46 55 101 19.0 82.0
22 [N (EfE 41 56 97 10.0 87.0
23 |BE =B 48 51 99 12.0 87.0
24 |[E =5 56 58 114 25.0 89.0
OPEN |&HH #ht 47 49 96
m#E & 53 47 100
ERRK EHXKE 53 b4 107
XH#H AF 56 66 122
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